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Total land tax the people of Edo period put in from the year of the dragon to the year of the dog was
24234.75.

But land tax was decreased from the year of the dragon to the year of the snake 850 Ryo, 1t was
increased from the year of the snake to the year of the horse one quarter, 1t was decreased from the
year of the cow to the year of the sheep one-tenth, 1t was put 1n, it was decreased From the year of the
monkey to the year of the dragon two-eighth, 1t was increased From the year of the bird to the year of
the snake one-fifth, 1t was 1ncreased From the year of the dog to the year of the cock one thousand.

Use a value of over and answer each price.

The year of the dragon 3740Ryo Total dog |cock monke sheep |horse |snake |[dragon
The year of the snake 2890Ryo v

The year of the horse ~ 3612Ryo2Bu 752.5 [120 1120 | 75 [112.5 | 125 100 | 100 |Upper step
The year of the sheep 3251Ryo1Bu
The year of the monkey 2805Ryo

The year of the cock 3468Ryo
The year of the dog 4468Ryo

4908.75 (10201020 956.25|1062.5 | 850 Middle step

1000 1000 Lower step

The upper step 1s made 752.5 1n all. The middle step 1s made 4908.75 1n all. The lower step 1s 1000.
Then total land tax plus the total middle step 1s 29143.5. And the lower step from which 1t 1s
subtracted 1s 28143.5. It divided by the total upper step makes land tax of dragon.
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Kdo culture

The oriental zodiac...The 60 cycle that
combination of the Celestial Stem and Twelve zodiac signs.

Celestial Stem

SOIVlng kou jotu |he1r [te1 bo ki |kou|sin |zin ki1
Taking the Dragon as x. The twelve zodiac signs
the Dragon : X _ _
the Snake : X —850 mouse |0X tiger rabbit |dragon [shake
the Horse : 1.25 x —850X1.25
the Sheep : 1.25 xX0.9 —850X1.25X0.9 horse  'sheep /monkey icock dog boar
the Monk.ey 0.7 x The oriental zodiac way of counting years by 60
the COCk. » 12x —3850X 1.2 cycles of oriental zodiac as well as way of counting years
the Dog: 1.2x | —300X 1.2 1000 were used, and a year was expressed 1n a Chinese character
upper stage — middle stage + lower stage = total cultural sphere.
I mean, - The oriental zodiac way of counting years...60
ax — dfb ) T ¢ = d cycles of oriental zodiac 1s advanced every 1 year. A zodiac
X f—

In this way, we can know a year of the Dragon ‘s
tax.
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Table could summarize to character well. All expression could make a
linear equation about x and we could take out the payment easily.
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As a future 1ssue, we want to improve the skill witch translate
something into Japanese and the skill witch the thing I want to tell you
stands for English by solving the other problem of WASAN we examine
1n this time. Also, we want to expend the range of learning by knowing
the old Japanese culture which we do not know other than WASAN.
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way of counting years 1s also used in folklore now.
The sixtieth birthday...It return to a born

land

annual oriental zodiac.
coat are presented.
again.

summary ° future tasks * impressions
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We were able to know mathematics was made with by what kind
of 1idea and what kind of reason to learn Japanese mathematics. So
we will seem to learn knowledge of math deeper than before.

To understand was very difficult, but we were able to understand
because of cooperation with friends.

About translation into English, it was different from English
tests and very hard to make English sentence I want to tell.
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Red hood and padded sleeveless
—It return to a baby again and born
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